EMPIRE

COMFORT SYSTEMS

SINCE 1932

INSTALLATION INSTRUCTIONS
DVCX LINER & FLOOR KITS

GAS-FIRED

cus

LISTED

BLACK REFLECTIVE LINERS
Models Description
DVP36XKR-1 Traditional Black
DVP42XKR-1 Traditional Black
BLACK REFLECTIVE FLOORS
Models Description
DVF36XKR-1 Traditional Black
DVF42XKR-1 Traditional Black
CERAMIC FIBER LINERS
Models Description

DVP(36,42)XCB-1

Cottage Brick

DVP(36,42)XRB-1

Rustic Brick

DVP42XRBW-1

Rustic Brick White

INSTRUCTIONS MUST BE LEFT WITH OWNER FOR FUTURE REFERENCE AFTER INSTALLATION.

INSTALLATION OF FLOORS
1. Remove glass door and control panel. See the appliance
owner’s manual for more detailed information.

2. Place the bottom side floor as shown in Figure 1.

T

N

CERAMIC FIBER LINERS with FLOORS g
Models Description | 8
DVP(36,42)XTS-1 Traditional Stone
DVP(36,42)XWS-1 Old World Stone Figure 1 -

3. Place bottom middle floor as shown in Figure 2.

CARTON CONTENTS o X )
- NOTE: The Ceramic Fiber floor is two pieces and the Black
o Black Black Ceramic Reflective floor is one piece.
Description Reflective Reflective Fiber
Liners Floors Liners 74
Rear Liner 1 - 1
Left Liner 1 - 1
Right Liner 1 - 1
Left Rear Leg - - 1
Right Rear Leg - - 1
Left Floor - 1 1
Right Floor - 1 1
Front Left Floor - 1 1
Front Right Floor - 1 1
Liner Bracket 2 - 2
#10 X 1/2 Screw 2 - 2 Figure 2
Rear Liner
. 1 - -
Insulation

34363-3-0220 Empire Comfort Systems Inc. * Belleville, IL Page 1



INSTALLATION OF LINERS 4. Remove the screw plugging the bracket hole in the top of
1. Prebend the brackets included with the kit as shown in Figure 3. the firebox.

5. Place left panel against left firebox and rear panel and hold
side in place. Secure panel in place with one of the brackets
and one #10 X 1/2 screw. See Figure 6.

Figure 3

2. For Ceramic Fiber Liners Only: Place left and right rear
legs as shown in Figure 4.

Figure 6

NOTE: The side liners each have a small dimple to indicate the
bottom rear of the liner. When properly installed, the dimples will
be at the bottom rear of the fireplace.

Figure 4 6. Repeat steps 4 and 5 for the right side.

3. Place rear panel on the back of the firebox and hold with one
hand. See Figure 5. Ensure rear panel is resting on fiber legs.
Note for Reflective Liners Only: Place insulation behind
rear liner before installing.

-

\ v

Figure 5

Page 2 Empire Comfort Systems Inc. « Belleville, IL 34363-3-0220



BLACK REFLECTIVE LINERS AND FLOORS EXPLODED VIEW AND PARTS LIST

6

g

Q/

G

1
\
/ 1
4
BLACK REFLECTIVE LINERS
Index Part Number e Quantity
Description .

Number DVP36XKR DVP42XKR DVF36XKR DVF42XKR Supplied

1 33973 33973 - - Side Liner 1

2 33972 33978 - - Rear Liner 1

3 - - 33975 33979 Bottom Left Liner 1

4 - - 33976 33980 Bottom Right Liner 1

5 - - 33977 33977 Bottom Center Liner 1

6 29270 29270 - - Liner Bracket 2

7 R2737 R2737 - - Screws #10 X 1/2 2

Not Shown R11994 R11995 - - Rear Liner Insulation 1

34363-3-0220 Empire Comfort Systems Inc. * Belleville, IL Page 3



CERAMIC FIBER LINERS AND FLOORS EXPLODED VIEW AND PARTS LIST

10

1"

4

1 ~
10
N *
/ 11
3
2
/ /
6
\ 4/
8 y \
9/
7 —
CERAMIC FIBER LINERS - WITHOUT FLOORS
Index Part Number L Quantity
Description .

Number [ pyP36XCB | DVP42XCB | DVP36XRB | DVP42XRB | DVP42XRBW Supplied

1 34069 34069 34064 34064 37875 Left Side Liner 1

2 34070 34070 34065 34065 37876 Right Side Liner 1

3 34071 34071 34077 34074 37878 Left leg liner 1

4 34072 34072 34078 34075 37879 Right Leg Liner 1

5 34068 34076 34063 34073 37877 Rear Liner 1

10 29270 29270 29270 29270 29270 Liner Bracket 2

1 R2737 R2737 R2737 R2737 R2737 Screws #10 X 1/2 2

CERAMIC FIBER LINERS - WITH FLOORS
Index Part Number L Quantity
Description .

Number | DVP36XTS DVP42XTS DVP36XWS DVP42XWS Supplied

1 34087 34087 34080 34080 Left Side Liner 1

2 34088 34088 34081 34081 Right Side Liner 1

3 34089 34099 34082 34094 Left Leg Liner 1

4 34090 34100 34083 34095 Right Leg Liner 1

5 34086 34098 34079 34093 Rear Liner 1

6 34091 34101 34084 34096 Left Bottom Liner 1

7 34092 34102 34085 34097 Right Bottom Liner 1

8 34105 34105 34103 34103 Left Center Bottom Liner 1

9 34106 34106 34104 34104 Right Center Bottom Liner 1

10 29270 29270 29270 29270 Liner Bracket 2

11 R2737 R2737 R2737 R2737 Screws #10 X 1/2 2

Empire Comfort Systems Inc. « Belleville, IL

34363-3-0220



EMPIRE

COMFORT SYSTEMS

SINCE 1932

INSTRUCTION D’INSTALLATION DE
TROUSSES DE GARNITURES DVCX ¢(UL)us
AVEC ET SANS RENFORT

GAS-FIRED

LISTED

LE FEUILLET D’INSTALLATION DOIT ETRE LAISSE AU PROPRIETAIRE
POUR CONSULTATION ULTERIEURE.

GARNITURES REFLECHISSANTES NOIRES

Modeéles Description
DVP36XKR-1 Noir traditionnel
DVP42XKR-1 Noir traditionnel

RENFORTS REFLECHISSANTS NOIRS

Modeéles Description
DVF36XKR-1 Noir traditionnel
DVF42XKR-1 Noir traditionnel

GARNITURES EN FIBRE DE CERAMIQUE

Modeéles

Description

DVP(36,42)XCB-1

Brique cottage anglais

DVP(36,42)XRB-1

Brique rustique

DVP42XRBW-1

Brique rustique blanche

GARNITURES EN FIBRE DE CERAMIQUE avec RENFORT

Modeéles

Description

DVP(36,42)XTS-1

Pierre des champs

DVP(36,42)XWS-1

Pierre romaine

CONTENU DE L'EMBALLAGE

Garnitures
réfléchissantes
noires

Description

Garnitures
en fibre de
céramique

Renforts
réfléchissants
noirs

Garniture
arriére

1

- 1

Garniture

gauche 1

- 1

Garniture
droite

Patte arriére
gauche

Patte arriére
droite

Renfort
gauche

Renfort droit -

Renfort avant
gauche

Renfort avant
droit

Support de
garniture

Vis n° 10 X
1/2 po

Garniture
arriére isolant

34363-3-0220

Empire Comfort Systems Inc. * Belleville, IL

POSE DES RENFORTS
1. Déposer la porte vitrée et le panneau de commande. Pour
plus de détails, voir le manuel du propriétaire.

2. Poser le renfort latéral sur le fond comme montré a la
Figure 1.

T

R

ﬂ/
Figure 1

3. Poser le renfort central du fond comme montré a la Figure 2.

REMARQUE : Le support de fibre de céramique est en deux
parties et le renfort réfléchissant noir est d’'une seule piéce.

V"' e

Figure 2

Page 1



MONTAGE DES GARNITURES
1. Préparer les supports compris dans la trousse en les pliant
d’avance comme montré a la Figure 3.

Figure 3

2. Pour les garnitures en fibre de céramique
seulement : Placer les pieds gauche et droit comme montré
ala Figure 4.

Figure 4

3. Placer le panneau arriere sur le mur du fond de I'atre en
le retenant d’'une main. Voir Figure 5. Confirmer que le
panneau est monté sur les pieds de fibre.
Remarque : pour les garnitures réfléchissantes
seulement, placer un panneau isolant derriére la garniture
avant de l'installer.

Figure 5

4. Retirer le bouchon obturateur du trou dans le cadre du foyer

pour visser le support de garniture au haut de I'atre.

5. Appuyer le panneau de gauche contre le mur de I'atre et le

panneau arriére et le maintenir en place. Fixer les panneaux
en vissant un des supports en place a I'aide d’'une vis n° 10
X 1/2 po. Voir Figure 6.

Figure 6

REMARQUE : Les garnitures latérales ont une Iégére dépression
dans un coin a placer en bas sur le mur arriere de I'atre.

6. Répéter les étapes 4 et 5 pour le coté droit.

Page 2 Empire Comfort Systems Inc. « Belleville, IL 34363-3-0220



VUE ECLATEE ET LISTE DE PIECES DES GARNITURES REFLECHISSANTES NOIRES ET RENFORTS

g

6

G

1
\
/ 1
4
GARNITURES REFLECHISSANTES NOIRES
X Numéro de piéce L Quantité
Repeére Description .
DVP36XKR DVP42XKR DVF36XKR DVF42XKR fournie
1 33973 33973 - - Garniture latérale 1
2 33972 33978 - - Garniture arriere 1
3 - - 33975 33979 Garniture du fond gauche 1
4 - - 33976 33980 Garniture du fond droite 1
5 - - 33977 33977 Garniture du fond centrale 1
6 29270 29270 - - Support de garniture 2
7 R2737 R2737 - - Vis n° 10 X 1/2 po 2
représants R11994 R11995 - - Isolant de garniture arriére 1
34363-3-0220 Empire Comfort Systems Inc. * Belleville, IL Page 3



VUE ECLATEE ET LISTE DE PIECES DES GARNITURES EN FIBRE DE CERAMIQUE ET RENFORTS
10

1"

4

1—
10
N |
/ 11
3
2
— -
6
\ 4/
8 Ve \
9/
-
GARNITURES EN FIBRE DE CERAMIQUE SANS RENFORT
: Numéro de piéce ... Quantité
Repére Description .
DVP36XCB | DVP42XCB | DVP36XRB | DVP42XRB | DVP42XRBW fournie
1 34069 34069 34064 34064 37875 Garniture latérale gauche 1
2 34070 34070 34065 34065 37876 Garniture latérale droite 1
3 34071 34071 34077 34074 37878 Garniture-pied gauche 1
4 34072 34072 34078 34075 37879 Garniture-pied droit 1
5 34068 34076 34063 34073 37877 Garniture arriére 1
10 29270 29270 29270 29270 29270 Support de garniture 2
11 R2737 R2737 R2737 R2737 R2737 Vis n° 10 X 1/2 po 2
GARNITURES EN FIBRE DE CERAMIQUE AVEC RENFORT
i Numéro de piéce o Quantité
Repére Description .
DVP36XTS DVP42XTS DVP36XWS DVP42XWS fournie
1 34087 34087 34080 34080 Garniture latérale gauche 1
2 34088 34088 34081 34081 Garniture latérale droite 1
3 34089 34099 34082 34094 Garniture-pied gauche 1
4 34090 34100 34083 34095 Garniture-pied droit 1
5 34086 34098 34079 34093 Garniture arriére 1
6 34091 34101 34084 34096 Garniture du fond gauche 1
7 34092 34102 34085 34097 Garniture du fond droite 1
8 34105 34105 34103 34103 Garniture du fond centre-gauche 1
9 34106 34106 34104 34104 Garniture du fond centre-droit 1
10 29270 29270 29270 29270 Support de garniture 2
11 R2737 R2737 R2737 R2737 Vis n° 10 X 1/2 po 2
Page 4 Empire Comfort Systems Inc. « Belleville, IL 34363-3-0220



